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2024 Fall PHYS2310 & #£% (Electromagnetism) Quiz #1
[Griffiths Ch. 1] 2024/09/24, 11:20am—12:00am, #%&% : 317 4&
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1. Let 4 be the separation vector from a fixed point (x', ', z') to the point (x., y. z), and let 4 be its
length. Show that '
(a) V(1/4)=? (20%)
(b) VxV(1/2)=2 (20%)

Ans:

2. The divergence theorem D

(a) Find the divergence of the function \\D
v=s (2+sin’ ) § + s sin ¢ cosg p+3z2 (25%)

(b) Test the divergence of this function, using the cylinder (radius 2,

height 5) shown in the figure. (25%) TN Y

Ans:
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